INDIAN INSTITUTE OF TECHNOLOGY KANPUR INSTITUTE WORKS DEPARTMENT ELECTRICAL & AIR-CONDITIONING DIVISION

No. 20/AC/EE/2024/ 01

Dated 11-11-2024

QUOTATION NOTICE

M	15	S																							
							•																		

Sealed quotations are invited from the eligible Electrical contractor by the undersigned on behalf of the Director, IIT Kanpur for "Providing and fixing data points in offices including laying UTP cable at Tennis court.." As per enclosed Bill of Quantity/ overleaf, so as to reach in this office on or before 19-11-2024 upto 3.00 PM and the quotation will be opened on the same day at 3.30PM in the presence of quotationers or their representative who want to be present.

The terms and conditions of the quotation are as under:

- 1. The quotations should be submitted in a properly sealed envelop, addressed to the undersigned. The enquiry nos. and date should invariably quoted on the top of the envelop.
- 2. The contractor should have the following documents and must enclosed the relevant copies .:
 - (i) Copy of proof of Electrical contractor. (Electrical contractor mean agency who have similar nature of work experience. The above work must be in the Central Govt. /Central autonomous bodies/central PSU/State PSU/State Govt.
 - (ii) Registration certificates of EPF & ESIC
 - (iii) A Class Electrical License.
 - (iv) GST registration & Pan card
- 3. The time allowed for carrying out the above noted work is 21(Twenty One) Days.
- The rates quoted should be exclusive of GST, no other tax is payable except GST. GST shall be applicable as per Govt. norms.
- 5. Security @ 7.5% shall be deducted from the bills which shall be released on successful completion of defect liability period of six months.
- 6. "Bid Security Declaration" is to be submitted along with the quotation (Estimate Cost Rs. 68565.00).
- 7. The quotations shall remain valid for 90 days from the date of opening.
- 8. Income tax will be recovered as per notification of Government from the bill and the amount so recovered will be deposited in the State Bank of India at the credit of the firm.
- 9. The earnest money/Security deposit will be regulated as per the norms of C.P.W.D.
- 10. The Institute reserves the right of accepting or rejecting any quotations without assigning any reason thereof.
- 11. The material should be used as per approved list of make.

INDIAN INSTITUTE OF TECHNOLOGY KANPUR INSTITUTE WORKS DEPARTMENT

QUOTATION

Sub: Providing and fixing data points in offices including laying UTP cable at Tennis court.

S.N.	Description	Qty.	Unit	Estimated rate without GST (Rs.)	Estimated Amount without GST (Rs.)
1	S & F metal box of following sizes (nominal size) on surface or recess with suitable size of 3 mm phenolic laminated sheet cover in the front I/c painting etc as reqd.				
a)	180 mm x 100 mm x 60 mm deep	2.00	Nos.	215.50	431.00
2	Providing & fixing of size 32 mm x 12.5 mm. DLP mini trunking system with independent cover as reqd.	25.00	Mtrs	185.00	4625.00
3	Providing & fixing accessories for 32 mm x 12.5 mm size of DLP mini trunking system as reqd.				
a)	Flat junction	5.00	Nos.	142.00	
b)	Changeable flat angle	10.00	Nos.	109.00	1090.00
c)	Changeable internal /External angle	20.00	Nos.	98.00	1960.00
d)	End cap left or right	5.00	Nos.	72.00	360.00
4	Providing & fixing of size 32 mm x 20 mm. DLP mini trunking system with independent cover as reqd.	60.00	Mtrs	241.00	14460.00
5	Providing & fixing accessories for 32 mm x 20 mm size of DLP mini trunking system as reqd.				
a)	Flat junction	5.00	Nos.	140.00	
b)	Changeable flat angle	10.00	Nos.	117.00	
c)	Changeable internal /External angle	20.00	Nos.	142.00	
d)	End cap left or right	5.00	Nos.	147.00	
6	Providing & fixing of 105 mm x 50 mm size of DLP trunking on surface with suitable plug & screws as reqd.	5.00	Mtrs.	1050.00	5250.00
7	Providing & fixing of accessories for 105 mm x 50 mm size of DLP trunking system as reqd.				
a)	Flexible cover for 85 mm width	5.00	Mtr	477.00	
b)	Partition	2.00	Mtr	298.00	
c)	Flat junction	2.00	Nos.	987.00	
d)	Flat angle	2.00	Nos.	770.00	
e)	Internal angle adjustable from 80 - 100	2.00	Nos.	560.00	
f)	External angle adjustable from 60 - 120	2.00	Nos.	547.00	
g)	End Caps	5.00	Nos.	215.00	
h)	Base Joint	2.00	Nos.	105.00	
i)	cover Joint for 85 mm width	2.00	Nos.	244.00	488.00
8	Supply & Laying of HDPE pipe of size 32 mm inner dia, 2mm thick I/c cartage, loading & unloading etc. as reqd. (ISI mark)				
a)	In ground (with sand cushioning and protection)	20.00	Mtr	355.00	
b)	In pipe	5.00	Mtr	162.00	
c)	In open duct	5.00	Mtr	153.00	
d)	On surface	5.00	Mtr	166.00	830.00
9	Providing and fixing G.I. pipes complete with G.I. fittings including trenching and refilling etc. External work				
a)	50 mm dia nominal bore	12.00	Mtr	573.5	6882.00
10	S & F 3 mm thick phenolic laminated sheet on existing board with brass screw & cup washer etc as regd.		Sq.in		

S.N.	Description	Qty.	Unit	Estimated rate without GST (Rs.)	Estimated Amount without GST (Rs.)		
11	Fixing of PVC / MS / data box/ router of any size on surface/recessed including rag bolts etc. Complete as required.	5.00	Nos.	93.00	465.00		
12	Drawing of RG-6 cable/ network cable/ wiring cable/ telephone cable in existing surface/concealed conduits ,ferruling ,cartage up to site etc. Complete		Nos.	20.00	6000.00		
	Estimated Amount (A)						
	Please quote	Percentag	ge abov	e/below (%) =			
		Quoted	amoun	t will be Rs.			

विनय कुमार तिवारी
(VINAY KUMAR TIWARI)
अधिशाषी अभियंता(वि॰एवं वा॰) B.B. (Elect & AC)
सं॰िन॰वि॰, भागपोग संस्थान, कानमूर
I.W.D., I.I.T., Kanpyr

Annexure A

Performa of Bid Security Declaration

(To be submitted by bidder on its Company Letterhead (scanned copy))

It is here by submitted that if I/We	We (Name of (Name of
defined in the tender documents, I/Wewill be suspended to take part in IIT Kanpur's tendering process occurrence of the above mentioned default."	for the period of two years from the date of
Date:	Authorized Signatory